€ €4 | enunedy

J

erAdL yueoroA UNHINO0 HOHIIBHNIAND ¥HHATSd0dN goleLdlrAsad 9100W0T9d KRHI0E))

RH | s e [ B | SH R ] 1T 2 B N T TR (T (B i e A [ P P W e SRRONORAON |z
110 8 nnimoilowdond a1 ipHoddau nnnodf|
eroxm semder)
5 - i s i - WMHRIE ALHOWDd M OIHHEE WAL
H H H H H H < < ) £ R ) ) < -0 AWOHOMSLTINOM 011 HHROOR] i
11O 8 nninoidowavnd an ronoadau nnhod]|.
ELrOMI BEHAIBhEE]
144 £C [44 1< 0¢ 61 81 Ll 91 Cl 14! £l 4! I | o0l 6 8 L 9 ¢ L4 € < !
T (] e E [= W] = Syl - -} ) i, =15 -} = (2] = = =} = ] o = =3 - ® =] >
Ec |87 |85 |SF|BF|FF|E85 (95| BE |§|B|E|E|E|&|EB|:E|E|E(B3E ¢
=] T o s 2 a5 = T = =EE 3 E S o g o 3 = = S = <] = = = 23 5 =
ai| 2o g 2E |ES|ag |= =) = ® 3 Q = 2 =] = =} 5 gl o =
258z [28 | 2E | %8 (2E a2 & g 4 2 | B E | 5| 5| & | & g | B ES| 2 8
& P |8 = |28 | 9F O e~ = g | e = Zz = = = = = as = =
2 5 mM SE |35 T |W§ 32 & z g | g z 8 | 8 g e | % = =8| 8 S BLOOW 01
z 2 ZE |£3|g¢% = m_ 3 ] g B B | g g z E g 22| -anoged
= E|E2 |58 |28 = 58 o g @ m g s = e
2 g ~2 |Eg |EE g Ay = 3 2 8|8 | & S 2 s eXHHLOQRd 9100HIIURHITISID dowon
a = =]
2 2| &g m.m g3 S g = m 5 ] F s E a8 /ALOOHNLOY HI9H
P = 5 = =] (] 2
) g(3g|° = g = 8 2 3 5 g | & af < /endadody | -q1reAlr
2 Iz G © o ) = =z
3| 2 3 g Bl B| 3<| & 3 8 g = -MEUTH]]
& = S g e o = S g i) =
z = s g g =z = g 2
= E < @ 2 E EE E J
= m = % B M = =
! eIAdL uHa0IrdA (1990BINTOL) 19008IN
7 BIHIQR]
0 0 0 0 0 I 0 I I 0THUL'REHH XMH €M
0 0 0 0 0 0 0 0 0 1arr g1 or aroedeod d TIHL XHH €M
0 0 0 0 0 £ 0 € € HUIIH2X XUH €1
(‘ron) xer
0 0 0 0 0 9 0 9 9 -03W XHhoQed BH 9I91LKHEE ‘UMHHLOQB]
0 0 0 0 0 9 0 9 9 (r2) BLIOW SHRhOgE]
01 6 8 L 9 S ¥ {2 [ !
BrAdL puaoIrdA
vE e Zc '€ BAHOIO BEHIIBHNIALD BHAT280dL 01204
¥ doeIn 7 ooeIny [ 90BN x19doL0o) BH 9IrOMh WOL €
OMHEBHOHIWHRH
€ o081
XBLOOW
(MMHUTO) ¢ 2dedl g XI9HHEERNA ‘199N XHhoQed BIOHh €M BTAAL UHEOLOA (WRIDRIMNITOL) X1hoged XHLE BH XI9LKHEE ‘@oMHH1O0QRd
WEDORIN Ol 80MMHLOQRd XWH BH XI9LEKHRE 9100HHAIOHR H 109W XMhoQed OH100hUI0Y 91DOHHOLOUE M 109 XHhOQed 08109hHI0)

[ eIHIQR],

7€ oN BIFOMIN BeHIIra1ed0eedQOoalI00 BEEHIad)),, OHH

BUAdL HHFOIrdA HMHINIO HOHII'BHIIILD BHHATdg0od goreLdrAsdd 9L00W0X98 BEHI049))

SUhA QO0HIIRLEHOLEBUQOIIIQO 20HWOHOLEE QOHIIBIITHITHHAN :unecuHeIdo OQHHEBHOHOWHEH




€ €4 7 enMHed1d

erAdL urdorok HYHATIO HOHIIFBHIIND KHHArgodl goleLdrAead 9100WOIE KRHI0E))

(erer) COH®) (9omuron) 3 Aﬁvaon.B
= ‘V'H rEOmerioq ALIBIXAQ HITHERIL ]
(207 4157 % 4
(eLur) (QH®D) (a9nurou) (2100mx3aror}
o . ‘gD eaooerod] | doiesrHeido-qrraregerouad
TF0Y JIY > A 0 C
(erew) (OH®D) (somurou) (aroomaror)
£V M wn + ERNELETEN V7 wedrey oU LOMIBUIIaL))
erAd1L HHE0IDA HHSIIO HOHILBHIIRMD OIHHATIE0dI Ol HMOOHWOX I9HIIf
(ever) (oOu®d) (gomuron) (arsoHiroN)
S S "H O BEOIHWAT]] \; o/ dXV ou edoryaduYr 9IraluLIdNEE
‘erAdL HUg0IrdA MIHOIIO HOHGIBHIIID o&huqomoau OII HHOOHIWOXN KIALRI0TadIl 9IroLHLOINRE
(ever) (O D) (aomurrour) (9ro0m3MaroT)

CFOF 7 GF

‘g'q eHuHMmMAdag

shﬁ\

dg A ou edoryaduy drainidoneg

erAdL HHE0IrIK MNHAYIO HOHIIRHIIAD OIMHATAg0dII Ol MHIIMWON dIraleXradrad

€20 1170 ‘BHHI'dBLIO0D M.HMHN

1y | by | 1Y | ©H | BH | 2H g z s ol B L R R R R - P R [ (R UuH (vsin)
-amawon X1I9HOMALD yumdog £ V9Il
HHH
12 19| 1 I3 I3 12 - - - - - = = - - - 3 s = *
H H H H : H ¢ ¢ 4 -oMaWol XIHQIXALD yumdog £ VSl
In 1o i 5 5 5 MAHIMIWOL XITHQIMALD
H H H H H H C C < wimdog 5 il
110 8 nninoidswoonA an voroadau nnrodjy
LoH [ WH [ WH [ PH [ 18H [ 2H 2 el Frimeee=tli= .= [ i~ Sk e (Y0gaN"gex) 1Hedoge]r [ g1l
[10 9 nnioilowdvad 1ronoddau nnnody|
gr|ey |28 |29 |ev|FF (535|385 58 |2 |g|s |8 |&8|&g|&e|s|2|¢&|238|¢8)|°¢
S2|Ss(Sc |8 |85 |S8|ESS 58| 83 1 13|8|E|E|2|@|5]=|% |38|¢& |k
& 3 S|Ee |3 |E3|RE |[8E® 2 2 &3 8 S 2 8 = B 5 ZE8| 8 Z
38|38 |58 |SE|58 |3E|qeE| & 2 |d|EB|le|2|8|& (6|8 B 2|3 |2
@ i b= w5 o g = | BE s = = = = = < 3 |
| 2|25 |35 (82| %3z | = (2|5 |E(3(z/3/|3|"| |e§|8|% —
g & = |28 |Sx8 = R 8 g =il | 5tes 842 | EL B 2| E -anoged
5t = m E |Eg |23 o g g & g a E ] g g §Z| = 8
2 H] =3 |88 |&E g g Wm, = 3 2 B |2 w g z = exunLoged 9L00HIIBHTIALD dowon
(4]
2 m g Mm E S z m m 5 3 i |E g g /4LOOHIOT HIH
— =] = w
& E|1238|°3 g g g g g 5 E | & g /sravadody] -qureAr
=] =] 2 = & & =)
| & g g 2 d S = 3 g g s -HEUTH]
= g = z =} 28 g T =
o z = 3 3 2 2 =
| B 3 3 2| 5| g g :
il . - 2 = £ =l 55| =

erAdi nrugoirdA (I900BINIOL ) 199081




€ €M ¢ enuHedLd erAdLl MMEOLOA MMHATIO HOHILBHIIOND KHHATDg0dl goleLdrdead 9100WOTDE KRHI0H))

(e1er) (OHP) 93HLTOL (sordoudye adiooad & N}

€0T11°€0 I ¥edd9rodon ‘ V8L
:erAdL uugorak AxHano’ oilHafenfiond yamaurogodn ‘UuuneenHeldo (19-)rdanade

(e1eT) COHD) (asuunrou) (a1o0H3¥10T)
EL0Y F 74 67 V'L BEOHIWR)) _w\:&u\\ uunesnHeldo yoreoiodpodu HOHKHE

-dou vHeado otondogiag qrarngeLorad]|

(1er) (O D) (9opuTrou) (9LOOHNIrO)

et T[] LV ‘g0 rdord WAT erAdL sHedxo ol LoMIrEHTIaN
h.ﬂ\.a.p.ﬂ.‘ \\ M\“.c mo 151 \\\\\ : U



